A80 Answers to Odd-Numbered Exercises
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(b) The function is difficult
to integrate.
(c) About 4.7721

(b) About 1.323
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63. F(a) = (2/m)[sin(ma/2) + 1]
(@ F(=1)=0 (b) F(0) = 2/m = 0.6366
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69. Answers will vary. Sample answers:
(a) About 966 ft> (b) About 1004 ft?
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Answers will vary. Example: x*—2x2+1<1—-2x2 on
[— 1, 1]
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Offer 2 is better because the cumulative salary (area under the

curve) is greater.

(a) The integral fg [vi(t) = v5(r)] dt = 10 means that the first
car traveled 10 more meters than the second car between 0
and 5 seconds.

The integral f,” [v,(1) — vy()] dt = 30 means that the first
car traveled 30 more meters than the second car between 0
and 10 seconds.

The integral [5[v,(r) — vo()]df = —5 means that the
second car traveled 5 more meters than the first car
between 20 and 30 seconds.

(b) No. You do not know when both cars started or the initial
distance between the cars.

(¢) The car with velocity v, is ahead by 30 meters.

(d) Car 1 is ahead by 8 meters.
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(¢) 3.2, 6.4, 3.2; The area between the two inflection points is
the sum of the areas between the other two regions.
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(d) About 2006.7

4v2 - 5) ~ 3.503

(a) About 6.031 m? (b) About 12.062m? (c) 60,310 Ib
True

False. Let f(x) = x and g(x) = 2x — A2, f and g intersect at
(1, 1), the midpoint of [0, 2], but

[ - g ds = [T = (x - 2 ac =2 0.

V3/2 + Tmw/24 + 1 =~ 27823
Putnam Problem A1, 1993



